

Smarandache Q-fuzzy semigroups

R. Arul doss and S. Suganya

*Department of Mathematics,
M. R. Government Arts college,
Mannargudi-614001, Tamilnadu, India.
E-mail: krvarul@gmail.com, suganya167@gmail.com*

Abstract

In this paper, we introduce the concept of Smarandache Q-fuzzy semigroups, Smarandache Q-fuzzy normal semigroups and investigate some of their properties.

AMS subject classification: 20N25, 03E72, 08A72, 06F35, 03G25.

Keywords: Q-fuzzy subset, Q-fuzzy group, Smarandache semigroup, Smarandache Q-fuzzy semigroups, Smarandache Q-fuzzy normal semigroups.

1. Introduction

In 1965, L. A. Zadeh [11] Mathematically formulated the concept of fuzzy subset. He defined fuzzy subset of a nonempty set as a collection of objects with grade of membership value assigned between 0 and 1 by a membership function. In 1971, A. Rosenfeld [7] introduced the notion of fuzzy group. Padilla Raul [5] introduced the notion of Smarandache semigroup in the year 1998. Smarandache fuzzy semigroups were studied in 2003 by W. B. Vasantha kandasamy [9,10]. In 2008, A. Solairaju and R. Nagarajan [8] introduced a new algebraic structure namely Q-fuzzy groups. T. Priya and et al. [4] introduced the concept of Q-fuzzy normal subgroups in 2013. In this paper we introduce Smarandache Q-fuzzy semigroups, Smarandache Q-fuzzy normal semigroups and study some of their properties.

2. Preliminaries

Definition 2.1. Let X be a non empty set. A *fuzzy subset* μ of the set X is a function $\mu : X \rightarrow [0, 1]$.

Definition 2.2. Let H be a Semigroup. H is said to be *Smarandache semigroup* (S -semigroup) if H has a proper subset G such that G is a Group under the operation of H .

Definition 2.3. Let X and Q be non empty sets. A Q -fuzzy subset A of X is a function $A : X \times Q \rightarrow [0, 1]$.

Definition 2.4. Let G be a group and Q be any non empty set. A Q -fuzzy subset A of G is said to be Q -fuzzy group of G if

- (i) $A(xy, q) \geq \min\{A(x, q), A(y, q)\}$
- (ii) $A(x^{-1}, q) = A(x, q)$, for all $x, y \in G$ and $q \in Q$.

3. Smarandache Q-fuzzy semigroups

Definition 3.1. Let H be an S -semigroup. A Q -fuzzy subset A of H is said to be a *Smarandache Q-fuzzy semigroup* if $A : H \times Q \rightarrow [0, 1]$ is such that A is restricted to at least one proper subset G of H which is a group and the restriction map $A_G : G \times Q \rightarrow [0, 1]$ is a Q -fuzzy group, that is for all $x, y \in G$ and $q \in Q$, $A_G(xy, q) \geq \min\{A_G(x, q), A_G(y, q)\}$ and $A_G(x, q) = A_G(x^{-1}, q)$.

Example 3.2. Consider an S -semigroup Z_8 under multiplication modulo 8.

Let $Q = \{1\}$.

Let $A : Z_8 \times Q \rightarrow [0, 1]$ be defined by,

$$A(x) = \begin{cases} 1 & \text{if } x=(0,1) \\ 0.7 & \text{if } x=(2,1),(4,1),(6,1) \\ 0.3 & \text{if } x=(1,1),(3,1),(5,1),(7,1) \end{cases}$$

Clearly A is a Q -fuzzy subset of Z_8 . Consider $P = \{1, 3\}$ which is a proper subset of Z_8 and is also a group in Z_8 under the operation of Z_8 . It can be easily verified that $A_P : P \times Q \rightarrow [0, 1]$ is a Q -fuzzy group. Therefore A is a Smarandache Q -fuzzy semigroup.

Remark 3.3. Throughout this paper we mention Smarandache Q -Fuzzy Semigroup as S -QFS.

Proposition 3.4. If A is an S -QFS of an S -semigroup H relative to a group G and Q is a non empty set, then

- (i) $A_G(e, q) \geq A_G(x, q)$, where e is the identity element of G .
- (ii) $A_G(x^{-1}, q) \geq A_G(x, q)$ for all $x \in G$ and $q \in Q$.

Proof. Let A be an S -QFS of an S -semigroup H . Then A is restricted to at least one proper subset G of H which is a group and $A_G : G \times Q \rightarrow [0, 1]$ is a Q-fuzzy group.

Therefore $A_G(x, q) = A(x, q), \forall x \in G$ and $q \in Q$

(i) Let $e \in G$, where e is the identity element of G . Now,

$$\begin{aligned} A_G(e, q) &= A_G(xx^{-1}, q) \\ &\geq \min\{A_G(x, q), A_G(x^{-1}, q)\} \\ &= \min\{A_G(x, q), A_G(x, q)\} \\ &= A_G(x, q) \end{aligned}$$

Therefore $A_G(e, q) \geq A_G(x, q)$.

$$\begin{aligned} \text{(ii) } A_G(x^{-1}, q) &= A_G(ex^{-1}, q) \\ &\geq \min\{A_G(e, q), A_G(x^{-1}, q)\} \\ &= \min\{A_G(e, q), A_G(x, q)\} \\ &\geq A_G(x, q) \text{ (by (i))} \\ A_G(x^{-1}, q) &\geq A_G(x, q) \end{aligned}$$

Therefore $A_G(x^{-1}, q) \geq A_G(x, q)$. ■

Theorem 3.5. If A is an S -QFS of an S -semigroup H and Q is a non empty set, then $A_G(xy^{-1}, q) = A_G(e, q) \implies A_G(x, q) = A_G(y, q)$, for all $x, y \in G \subset S$, where G is a group and A_G is the restriction of A , $q \in Q$ and e is the identity element of G .

Proof. Let A be an S -QFS of an S -semigroup H and let Q be a non empty set. Then A is restricted to at least one proper subset G of H which is a group and $A_G : G \times Q \rightarrow [0, 1]$ is a Q-fuzzy group. Therefore $A_G(x, q) = A(x, q), \forall x \in G$ and $q \in Q$.

Let $x, y \in G$ and $q \in Q$. Assume that $A_G(xy^{-1}, q) = A_G(e, q)$.

$$\begin{aligned} A_G(x, q) &= A_G(xy^{-1}y, q) \\ &\geq \min\{A_G(xy^{-1}, q), A_G(y, q)\} \\ &= \min\{A_G(e, q), A_G(y, q)\} \\ &= A_G(y, q) \text{ (by Proposition 3.4(i))} \\ A_G(x, q) &\geq A_G(y, q) \end{aligned}$$

Now,

$$\begin{aligned}
A_G(y, q) &= A_G(yx^{-1}x, q) \\
&\geq \min\{A_G(yx^{-1}, q), A_G(x, q)\} \\
&= \min\{A_G((yx^{-1})^{-1}, q), A_G(x, q)\} \\
&= \min\{A_G(xy^{-1}, q), A_G(x, q)\} \\
&= \min\{A_G(e, q), A_G(x, q)\} \\
&= A_G(x, q)
\end{aligned}$$

$$A_G(y, q) \geq A_G(x, q)$$

Therefore $A_G(x, q) = A_G(y, q)$ for all $x, y \in G$ and $q \in Q$

■

Theorem 3.6. Let H be an S -semigroup, Q any nonempty set and let G be a proper subset of H which is a group in H . $\mu : H \times Q \rightarrow [0, 1]$ is an S -QFS relative to G if and only if

$$\mu_G(xy^{-1}, q) \geq \min\{\mu_G(x, q), \mu_G(y, q)\},$$

for all $x, y \in G$ and $q \in Q$.

Proof. Assume that $\mu : H \times Q \rightarrow [0, 1]$ is an S -QFS relative to G . Then μ is restricted to G and $\mu_G : G \times Q \rightarrow [0, 1]$ is a Q -fuzzy group. Then $\mu_G(x, q) = \mu(x, q)$, $\forall x \in G$ and $q \in Q$.

Let $x, y^{-1} \in G$ and $q \in Q$.

$$\begin{aligned}
\text{Then } \mu_G(xy^{-1}, q) &\geq \min\{\mu_G(x, q), \mu_G(y^{-1}, q)\} \\
&= \min\{\mu_G(x, q), \mu_G(y, q)\}
\end{aligned}$$

Therefore,

$$\mu_G(xy^{-1}, q) \geq \min\{\mu_G(x, q), \mu_G(y, q)\}$$

Conversely, assume that

$$\mu_G(xy^{-1}, q) \geq \min\{\mu_G(x, q), \mu_G(y, q)\} \quad (\text{i})$$

for all $x, y \in G$ and $q \in Q$

Put $y = x$ in (i). Then

$$\begin{aligned}
\mu_G(xx^{-1}, q) &\geq \min\{\mu_G(x, q), \mu_G(x, q)\} \\
\mu_G(e, q) &\geq \mu_G(x, q) \quad (\text{ii})
\end{aligned}$$

iii) Now,

$$\begin{aligned}
\mu_G(y^{-1}, q) &= \mu_G(ey^{-1}, q) \\
&\geq \min\{\mu_G(e, q), \mu_G(y, q)\} \text{ (by (i))}
\end{aligned}$$

$$\mu_G(y^{-1}, q) \geq \mu_G(y, q) \text{ (by(ii))}$$

Also,

$$\begin{aligned}\mu_G(y, q) &= \mu_G(e(y^{-1})^{-1}, q) \\ &\geq \min\{\mu_G(e, q), \mu_G(y^{-1}, q)\} \text{ (by (i))} \\ \mu_G(y, q) &\geq \mu_G(y^{-1}, q) \text{ (by (ii))}\end{aligned}$$

Therefore $\mu_G(y, q) = \mu_G(y^{-1}, q)$
iv)

$$\begin{aligned}\mu_G(xy, q) &= \mu_G(xy)^{-1}, q) \\ &= \mu_G(y^{-1}x^{-1}, q) \\ &\geq \min\{\mu_G(y^{-1}, q), \mu_G(x^{-1}, q)\} \\ &\geq \min\{\mu_G(y, q), \mu_G(x, q)\} \text{ (by (i))} \\ \mu_G(xy, q) &\geq \min\{\mu_G(x, q), \mu_G(y, q)\}\end{aligned}$$

From (iii) and (iv) μ is an S -QFS relative to a group G . ■

Theorem 3.7. Let A be an S -QFS of an S -semigroup H relative to a group G . If $A_G(xy^{-1}, q) = 1$, then $A_G(x, q) = A_G(y, q)$ for every $x, y \in G \subset S$ and $q \in Q$.

Proof. Let A be an S -QFS of an S -semigroup H relative to a group G . Then $A_G : G \times Q \rightarrow [0, 1]$ is a Q-fuzzy group. Therefore $A_G(x, q) = A(x, q)$, $\forall x$ in G and q in Q . Let $x, y \in G$ and $q \in Q$. Assume that $A_G(xy^{-1}, q) = 1$

$$\begin{aligned}A_G(x, q) &= A_G(xy^{-1}y, q) \\ &\geq \min\{A_G(xy^{-1}, q), A_G(y, q)\} \\ &= \min\{1, A_G(y, q)\} \\ &= A_G(y, q) \\ A_G(x, q) &\geq A_G(y, q)\end{aligned}$$

Now,

$$\begin{aligned}A_G(y, q) &= A_G(y^{-1}, q) \\ &= A_G(x^{-1}xy^{-1}, q) \\ &\geq \min\{A_G(x^{-1}, q), A_G(xy^{-1}, q)\} \\ &= \min\{A_G(x^{-1}, q), 1\} \\ &= A_G(x^{-1}, q) \\ &= A_G(x, q) \\ A_G(y, q) &\geq A_G(x, q)\end{aligned}$$

Therefore $A_G(x, q) = A_G(y, q)$ for all $x, y \in G$ and $q \in Q$. ■

Definition 3.8. Let X and Q be any non empty sets. The *intersection of two Q -fuzzy subsets* A and B of X is defined as $(A \cap B)(x, q) = \min\{A(x, q), B(x, q)\}$, for all $x \in X$ and $q \in Q$.

Theorem 3.9. The intersection of two S -QFS of an S -semigroup H relative to a group G is also an S -QFS of H .

Proof. Let A and B be any two S -QFS of an S -semigroup H relative to a group G . Then $A_G : G \times Q \rightarrow [0, 1]$ and $B_G : G \times Q \rightarrow [0, 1]$ are Q -fuzzy groups. Let $x, y \in G$ and $q \in Q$.

$$\begin{aligned} \text{(i)} \quad (A_G \cap B_G)(xy, q) &= \min\{A_G(xy, q), B_G(xy, q)\} \\ &\geq \min\{\min\{A_G(x, q), A_G(y, q)\}, \min\{B_G(x, q), B_G(y, q)\}\} \\ &= \min\{\min\{A_G(x, q), B_G(x, q)\}, \min\{A_G(y, q), B_G(y, q)\}\} \\ &= \min\{(A_G \cap B_G)(x, q), (A_G \cap B_G)(y, q)\} \\ (A_G \cap B_G)(xy, q) &\geq \min\{(A_G \cap B_G)(x, q), (A_G \cap B_G)(y, q)\} \end{aligned}$$

$$\begin{aligned} \text{(ii)} \quad (A_G \cap B_G)(x^{-1}, q) &= \min\{A_G(x^{-1}, q), B_G(x^{-1}, q)\} \\ &= \min\{(A_G \cap B_G)(x, q)\} \\ (A_G \cap B_G)(x^{-1}, q) &= (A_G \cap B_G)(x, q) \end{aligned}$$

From (i) and (ii), the intersection of two S -QFS is also an S -QFS of H relative a group G . ■

Definition 3.10. Let X and Q be any non empty sets. The *complement of a Q -fuzzy subset* A of X is denoted by A^c and is defined as $A^c(x, q) = 1 - A(x, q)$, for $x \in X$ and $q \in Q$.

Theorem 3.11. If A is an S -QFS of an S -semigroup H relative to a group G , then A^c is also an S -QFS of H .

Proof. Let A be an S -QFS of an S -semigroup H relative to a group G . Then the restriction map $A_G : G \times Q \rightarrow [0, 1]$ is a Q -fuzzy group. Therefore $A_G(x, q) = A(x, q)$, $\forall x \in G$ and $q \in Q$. For any $x, y \in G, q \in Q$,

(i)

$$\begin{aligned} A_G^c(xy, q) &= 1 - A_G(xy, q) \\ &\leq 1 - \min\{A_G(x, q), A_G(y, q)\} \\ &= \max\{1 - A_G(x, q), 1 - A_G(y, q)\} \\ A_G^c(xy, q) &\leq \max\{A_G^c(x, q), A_G^c(y, q)\} \end{aligned}$$

(ii)

$$\begin{aligned}
A_G^c(x^{-1}, q) &= 1 - A_G(x^{-1}, q) \\
&= 1 - A_G(x, q) \\
&= A_G^c(x, q)
\end{aligned}$$

From (i) and (ii), A_G^c is an S-QFS of H . ■

4. Smarandache Q-fuzzy normal semigroups

Definition 4.1. Let A be an S-QFS of an S-semigroup H relative to a group G . Then A is called *Smarandache Q-fuzzy normal semigroup (S-QFNS)* if $A_G(xy, q) = A_G(yx, q)$, that is $A_G(x, q) = A_G(yxy^{-1}, q)$ for all $x, y \in G \subset H$ and $q \in Q$.

Theorem 4.2. Let A be an S-QFNS of an S-semigroup H relative to a group G . Then for all $x, y \in G$, $A_G(x^{-1}y^{-1}xy, q) = A_G(e, q)$, where e is the identity element of G .

Proof. Let A be an S-QFNS of an S-semigroup H relative to a group G . Since A is an S-QFNS of H relative to G , we have $A_G(x, q) = A_G(yxy^{-1}, q)$, for all $x, y \in G$, $q \in Q$. Replacing x by y^{-1} and y by x^{-1} , we get

$$\begin{aligned}
A_G(y^{-1}, q) &= A_G(x^{-1}y^{-1}x, q) \\
A_G(y^{-1}, q) &= A_G(x^{-1}y^{-1}xe, q) \\
A_G(y^{-1}, q) &= A_G(x^{-1}y^{-1}xyy^{-1}, q) \\
A_G(e, q) &= A_G(x^{-1}y^{-1}xy, q).
\end{aligned}$$
■

Theorem 4.3. Let μ be an S-QFNS of an S-semigroup H relative to a group G . Then for any $x, y \in G$ and $q \in Q$, $\mu_G(yxy^{-1}, q) = \mu_G(y^{-1}xy, q)$.

Proof. Let μ be an S-QFNS of an S-semigroup H relative to a group G . Then $\mu_G : G \times Q \rightarrow [0, 1]$ is a Q-fuzzy group. For any $x, y \in G$ and $q \in Q$, we have

$$\begin{aligned}
\mu_G(yxy^{-1}, q) &= \mu_G(x, q) \\
&= \mu_G(xyy^{-1}, q) \\
&= \mu_G(y^{-1}xy, q)
\end{aligned}$$

Therefore $\mu_G(yxy^{-1}, q) = \mu_G(y^{-1}xy, q)$. ■

Theorem 4.4. The intersection of two S-QFNS of an S-semigroup H relative to a group G is also an S-QFNS of H .

Proof. Let λ and μ be two S-QFNS of H relative to a same group G in S-semigroup H . Then the restriction maps $\lambda_G : G \times Q \rightarrow [0, 1]$ and $\mu_G : G \times Q \rightarrow [0, 1]$ are Q-fuzzy

groups. By Theorem 3.9, $\lambda_G \cap \mu_G$ is an S -QFS of H relative to G . For all $x, y \in G$, we have

$$\begin{aligned} (\lambda_G \cap \mu_G)(xyx^{-1}, q) &= \min\{\lambda_G(xyx^{-1}, q), \mu_G(xyx^{-1}, q)\} \\ &= \min\{\lambda_G(y, q), \mu_G(y, q)\} \\ &= (\lambda_G \cap \mu_G)(y, q) \end{aligned}$$

Therefore

$$(\lambda_G \cap \mu_G)(xyx^{-1}, q) = (\lambda_G \cap \mu_G)(y, q).$$

Hence $(\lambda_G \cap \mu_G)$ is an S -QFNS of H relative to G . ■

Remark 4.5. In this paper the Cartesian Product of two sets G_1 and G_2 is defined as

$$(a_1, b_1).(a_2, b_2) = (a_1a_2, b_1b_2),$$

$$\forall (a_1, b_1), (a_2, b_2) \in G_1 \times G_2.$$

Theorem 4.6. Let A and B be any two S -QFNS of an S -semigroup of H relative to the groups R and S respectively. Then $A_R \times B_S$ is an S -QFNS relative to $R \times S$.

Proof. Let A and B be any two S -QFNS of an S -semigroup H relative to the groups R and S respectively. Since A and B are S -QFS relative to the groups R and S respectively, it is clear that $A_R \times B_S$ is an S -QFS relative to $R \times S$. Let $x_1, x_2 \in R$, $y_1, y_2 \in S$ & $q \in Q$. Then (x_1, y_1) and (x_2, y_2) are in $R \times S$. Now,

$$\begin{aligned} (A_R \times B_S)((x_1, y_1)(x_2, y_2), q) &= (A_R \times B_S)((x_1x_2, y_1y_2), q) \\ &= \min\{A_R(x_1x_2, q), B_S(y_1y_2, q)\} \\ &= \min\{A_R(x_2x_1, q), B_S(y_2y_1, q)\} \\ &= (A_R \times B_S)((x_2x_1, y_2y_1), q) \\ &= (A_R \times B_S)((x_2, y_2)(x_1y_1), q) \end{aligned}$$

Therefore

$$(A_R \times B_S)((x_1, y_1)(x_2, y_2), q) = (A_R \times B_S)((x_2, y_2)(x_1y_1), q)$$

Hence $A_R \times B_S$ is an S -QFNS of $R \times S$. ■

5. Conclusion

In this paper, we have made an attempt to study the results on Smarandache Q-fuzzy semigroups and Smarandache Q-fuzzy normal semigroups with their properties.

References

- [1] J. M. Anthony and H. Sherwood, Fuzzy groups redefined, *J. Math. Anal. Appl.*, 69 (1979), 124–130.
- [2] P. S. Das, Fuzzy groups and level subgroups, *J. Math. Anal. Appl.*, 84 (1981), 264–269.
- [3] A. S. Mashour, M. H. Ghanim and F. I. Sidky, Normal Fuzzy Subgroups, *Univ. u Novom Sadu Zb. Rad. Prirod. -Mat. Fak. Ser. Mat.* 20(2), (1990), 53–59.
- [4] T. Priya, T. Ramachandran and K. T. Nagalakshmi, On Q-fuzzy normal subgroups, *International Journal of Computer and Organization Trends*, 3(11) (2013), 574–578.
- [5] Padilla Raul, Smarandache algebraic structures, *Bull. of Pure and Appl. Sci.*, vol.17E, (1998), 119–121.
- [6] Prabir Bhattacharya, Fuzzy Subgroups: Some Characterizations, *J. Math. Anal. Appl.* 128 (1987), 241–252.
- [7] A. Rosenfeld, Fuzzy groups, *J. Math. Anal. Appl.*, 35, (1971), 512–517.
- [8] A. Solairaju and R. Nagarajan, A New Structure and Construction of Q-Fuzzy Groups, *Advances in Fuzzy Mathematics*, Vol 4 (1) (2009), pp. 23–29.
- [9] W. B. Vasantha Kandasamy, *Smarandache semigroups*, American Research press, Rehoboth, NM, (2002).
- [10] W. B. Vasantha Kandasamy, *Smarandache fuzzy algebra*, American Research press, Rehoboth, NM, (2003).
- [11] L. A. Zadeh, Fuzzy sets, *Information Control* 8, (1965), 338–353.